
Informatio:
Frame Weight: 130g
Materials: Pure Carbon Fiber
Size: 210mm
Maximum Propeller: 5 inch
Motor mount: 13xx motor, 18xx motor, 22xx motor.
Flight controller mount: 30.5mm x 30.5mm
FPV Camera mount: can be adjusted from 0 to 45

LYNX MANUAL DOC .REV .A14-11-2016

LX1926- ZAP 210X
INSTRUCTION MANUAL

Page 1



LYNX MANUAL DOC .REV .A14-11-2016

LX1926- ZAP 210X
INSTRUCTION MANUAL

Page 2



2 X DR2244
ZAP 210 X_ Main Frame

DR2249
ZAP 210 X_Bottom Main frame

DR2250
ZAP 210 X_Lower bottom frame

4xTBEM2.5X10
Button Head socket cap screw M2.5x10

4xSLNM2.5
Self lock nut M2.5

Power distribution board
(Not included)

4 x ESCs
Use shrink tubing or double
tape to keep ESCs
(Not included)

Spacer
(Not included)

STEP 1

STEP 2

LYNX MANUAL DOC .REV .A14-11-2016

LX1926- ZAP 210X
INSTRUCTION MANUAL

Page 2



4 x Motors
(Not included) 

16 x Screws M3
(Not included)

Flight controller
(Not Included) Plastic screws and spacers

(Not included)

STEP 4.1 CAM Mount
This step is assembled in
factory with loctite ready to
use

DR2219
ZAP 210_CAM support

DR2218 
ZAP 210_CAM Plate

4xCTCE2X4
Flat head socket cap screw M2x4
(Loctite 242)

For Sony HS1185 CCD 700TVL
FPV Camera Plastic Case

2 x Oring 1.5x1.25

Step 4.1

TBES2X8
M2x8 Head Socket cap
 self tapping screw

(Not included)

2 x TBES2X8
M2x8 Head Socket cap
self tapping screw

(Not included)

2 x TBES2X8
M2x8 Head Socket cap
self tapping screw

Fat Shark 600TVL FPV
Tuned CMOS Camera
(Not included)

STEP 3

STEP 4

#1

#2 #3

LYNX MANUAL DOC .REV .A14-11-2016

LX1926- ZAP 210X
INSTRUCTION MANUAL

Page 4



DR2248
ZAP 210 X_Upper Main frame

TBEM2.5X6
Button Head socket cap screw M2.5x6
(Loctite 242)

4XTBEM2.5X12
Button Head socket cap screw M2.5x12
(Loctite 242)

DR2241
ZAP 210_Standoffs 5x36xM2.5

DR2245
ZAP 210 X_Right Alu Frame support

DR2246
ZAP 210 X_Left Alu Frame support

2 x DR0307
Washer 2x5x0.75

2xTCEM2X5
Head socket cap screw M2X5

4xCTCE2X4
Flat head socket cap screw M2x4
(Loctite 242)

DR2247
ZAP 210 X_Recorder CAM mount

STEP 5

STEP 5

LYNX MANUAL DOC .REV .A14-11-2016

LX1926- ZAP 210X
INSTRUCTION MANUAL

Page 5



STEP 6

5035 Lynx Racer Propeller CCW + CW
Set

Antenna
(Not included)

CW CW

CCW

CCW

LYNX MANUAL DOC .REV .A14-11-2016

LX1926- ZAP 210X
INSTRUCTION MANUAL

Page


	Sheet1
	Drawing View1

	Sheet3
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View9
	Drawing View10
	Drawing View11
	Drawing View12
	Drawing View13
	Drawing View14
	Drawing View15
	Drawing View16

	Sheet4
	Drawing View17
	Drawing View18
	Drawing View19

	Sheet5
	Drawing View20
	Drawing View21
	Drawing View22
	Drawing View23
	Drawing View24

	Sheet6
	Drawing View25
	Drawing View26

	Sheet7
	Drawing View27
	Drawing View28
	Drawing View29
	Drawing View30
	Drawing View31


